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MATHECMATICS By Pradeep Sir

Q. 1) The simple interest on a certain sum for 3 years at
14% p.a. is Rs. 4,200 less than the simple interest on the

'4 o) “Q (- same sum for 5 years at the same rate. Find the sum.
v fAféa v v 3_ad & forg 14% a1ftfe ot g | |ruro
\ | 1o, FH A W THE &R TR 5 a6 & ATYRY &1 |
Rs. 4,200 $H 8| AR ya difoe1 —
2 (a) Rs. 16,000
S9 b) Rs. 10,000
200 (150
_R (d) Rs. 12,000
= cpof
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Q. 2) If 450 men can finish construction of an apartment
in 20 days, then how many men are needed to complete

the same work in 30 days ?
N T s BT s
. 30
/"H?D K0 = V\.ﬁ}&b qoul ﬁ #nfh o

‘al150

M> 800 (c) 400

,7' (d) 250
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Q. 4) Two numbers are in the ratio of 6:5. If their HCF is
3 then what is the LCM of the two numbers?

6: s%»' # €1 gfe 391 HegwH HIUadP
(I-ICF) 3 agaumwa?faﬁ (Lcm) fpaan
(a)64
(b) 110
(d) 80
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Q. 5) A container contains 25 litre of milk. From this
container, 5 litre of milk is taken out and replaced by

_f_\_:_ MA).K water. This process is further repeated two times. How
I much milk is there in the container now ?
; so fdt ad= & 25 dftex gu 81 39 o 9 5 diex g¥ P
' P IS T GT U e fea1 AT €1 98, ufehar g=: &
' Q,jz' aR GIgVTS WTd! g | 3@ 39 a4 # fha-m gy @2 "
) (a) T1.5 litre
(b) 14.8 litre
[~ (c) 13.5 litre
= 38
2 bY 5148
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Q. 6) If x + y = 36, then find (x — 27)3
:?f;; y=368,d (x- 27)3(:- (yzj)9 : il

| ___) @1 HIH JTd
(a) 1
(b) 81
(c) 2y
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Q. 7) The pie chart given below shows the number of
bike sold by 8 different companies. The total number of
bike sold by all these 8 companies are 2000. Number of
bikes sold by a particular company is shown as a percent
of total number of bike sold by all these 8 companies.

A f&ar mar g9 fix 8 fafis sufagl grT a9t 718 ags &t
maﬁmfg? | g9 | 8 & éig} m_:g
P TSI 2000 71 TP fafry gRT ase
&I B 54 AT 8 HUMATI gRT A T8 I8P Bl P GBI
%wﬁrszmgwﬁmfmw%l -

What is the difference between the average number of
bikes sold by P, Q, R and S and the average number of

P(DPé [U W bikes sold by T, U, V and W?
P, Q, R TYUT S GRT A 1S G159 B! 3d GBATHR T, U, V
C 3s g U W ERT I TTE a15® I Ifd HBN S a1 BT 3R
Y 5 (@150 ] () 200
\—r 20 L9927 K (c) 175 CIREE
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Q. 8) In the figure, AB = AD = 7 cm and AC = AE and BC
= 11 cm, then find the length of ED.

3ATHfd H, AB = AD = 7 cm 3R AC = AE TUTBC = 11

em B), at ED 3 waTE I FHrT)
(a) 12
(b) 10
L9111 |
() Jp-
C > ( D
AAD T4 ’i..‘?__c;
L
-P S —
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Q.9 fy+ % = 3, then what is the value of %

A-.. J& - 3 Uﬁy+%=3%,a}}%+y3+£$'lmm%7
E) L —J

b) 18
3 - _ ()20
. 4-(13—3- 27- <3 h()zg

+y3+2?
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‘(!
2tan 60 _ &1 HH HT8?

1+tan? 60°

Q. 10) The value of

(a) cos 60°
(b) tan 60°

(d) sin 30°
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Q. 11) The bar graph shows the percentage distribution
of the expenditure of a company under various expense
heads during 2003.

f&aT T IR UT% 2003 F R Al g fuf F agave
U1 & g &1 ufdwd fdavor far g

If the interest on loans amounted to Rs. 3.15 crores, then
the total amount of expenditure on salary, taxes and
infrastructure is :

gfe BUT UX TS Bt AMA Rs. 3.15 FIS 8, df a1, B 3R
gl e W o1y &t o iR 31 HI

(b) 7.8 crores
(c) 5.5 crores

(d) 8.5 crores
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Q. 12) What is the value of tan 240° &T HT9 T 87
(a) V2 (

(d) 3
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| Company |ESEEENE TR given below shows the income of two

companies C1 and C2 in 6 years.

 p— [(750) 850 géréaﬁmsaﬁﬁaﬁfmﬁtﬁm dYT C2 Bt AT B
I

@ 20 G0

-- -» ==l Which of the following statement is NOT correct?
R 33 ol
‘ g| FreffRa & A a 7dl & 2w Wl A

I. The income of C1 in year P is 33.33 percent of the
income of C2 in year Q.

ad pH c1 &t 3mg, 9 Q # c2 Bt 319 F71 33.33 Ufawa 2
Il. The average income of C1 and C2 in year T is 400.

T o ‘-L"—’%,uoo . 3001 ﬁrﬁcmmczaﬁeﬁ”ﬂammo%l

—ef 50 (b) Both | and Il /I aznn'c.ﬁ:l’f

(c) Neither | nor Il/ AT &I 1 ATEI I

i __GLO'» % (d) Only 11/3Fad I




MATHCMATICS By Pradeep Sir

A 47-—-).8°

Q. 14) The single discount equivalent to two successive
discounts of 15% and 12% on an article is :

U a3 W 15% AR 12% P &I PHNTA Je (bW U THd
w%mﬁ%

(a) 3% A

(c) 74.8%
(d) 27% 3;
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Q. 16) A solid metallic sphere of radius 13 cm is melted
and recast into a cone having diameter of the base as 13

cm. What is the height of the cone ?

S otk 13 A0, Brsw I 3 wiRT T B B Raarw
m%%ﬁﬁwwmmmmmﬁﬁ gl

WP P SIS A 13 T 82
q.41%. g

/_\
y '?ﬁﬂ L xr mA—S" f'a:ﬂ'(a) 246 cm
X" —2~ %_J ®)152em

(c) 174 cm

H=-s2r4

N R0°
—
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Q. 17) if tan @ + sec 8 = 7,0 being acute, then the value
of 5sinf is:

Uﬁtanoi-seca=7%3m0q3ﬁ,a}55in0$lmm

(a) = /
(b)

(C) f? *:(
T 4
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Q. 18) From the following figure find x + y + z.
BE| arrqﬁﬁ X+y+zJld C 2

(a) 100°

(b) 130°

(d) 110°
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Q. 19) The ratio of expenditure to savings of a woman is
5: 1. If her income and expenditure are increased by 10%

and 20%, respectively, then find the percentage change
in her savings.

US Aigen &1 9 3R g9d T AH=GUE 5 : 1 21 afe IS
31T 3R g | HHA/10% AR o1 3fg P et g, at
Maaaﬁuﬁm%m%mﬁ

(a) 55%

(b) 60%

c) 50%
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Q. 20) What will be the remainder when 27%7 + 27 is

dividedby28; Sl i
2 J oid 2727 + 27 & HIF 1 28 |/ faurfoa WTg, df AUGA
{1  +23 ffaagrm
(a) 28

ot 8 (b) 27

o
(—l) ?.|. (-1)
/

| =
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Q. 21) Study the following table and answer the question

e below.

¢ B[O C_’l_ b) 9:7
Jpe.,lld-: ’ zo},yac) 3:5

g aiferet &1 srwgge Fifoe Fifve ok IuF arg =
few T wy &1 IR i

Find the ratio of the female students who opted biology
in school B and school D,
WA B AR W D | old fag= &I g4 arell SEnsil 3
HBT $T AHUTd JTd DT | S

(d) 5:3
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Q. 22) In triangle ABC, the bisector of angle BAC cuts the
line BC at D. If BD = 6 and BC = 14, then what is the

value of AB: AC?

ABC H, HIUT BAC &T JHIGHTSP YE&T BC B D WX
m%uﬁw:sahnc:uahamcmmm

(b) 7:3
(c) 3:10
(d) 3:7
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Q. 23) A takes 4 times as much time as B or 5 times as
much time as C to finish a piece of work. Working

A & - together, they can finish the work in 4 days. B can do the
work alone in:
1= «° =& Aﬁ-\tﬁamfﬁ mﬁﬁsﬁ-tgmmmcﬁsgm
| U |1Y BT ﬁgq%«tﬁ??m
9 mm%lsmﬁmﬁﬁﬂ BTH RN BT THdl
:
. - 0 X - 0 (b)15days
w ’ " L‘-—;" (c) 12 days
(d) 20 days
"9 .o
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Q. 25) Kapil sells a mobile to Sachin at a gain of 15% and
Sachin again sells it to Rohit at a profit of 12%. If Rohit
pays Rs.322, what is the cost price of the mobile for Kapil

TedM ?

Mod’-l

'Q(“"'l)" mqaﬁaqafaﬁmﬂmaﬁ%mmﬂmmm%aﬂ?
/3 v_,;&l m.sz?ﬂwﬁm%,ﬁ%gﬁagm

PO fpaarer —
(a) Rs.350
(b) Rs.450

(!) Rs.325




